Precalculus: 5.4 Homework Odd Answers
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19. Hint: Draw a triangle for 2a to find cos(2a), then use an identity to find cos(«), then draw
another triangle for a. cosa = —]/J1_7 seca=—+17
sina:4/\/1_7 csc(x:\/l_7/4
tana =—4 cota=-1/4
21. cosa=-7/8 seca =-8/7 23. _1ol
289

sino =—+/15/8 csca =-8/15
tana =~/15/7 cota=7//15

25. cos*H—sin* 0 :(cos2 0 +sin? 0)(c052 0 —sin? 0)

= (1)(cos(20))

=cos(20)

27.
cos(2x)+cos(2y) 1-2sin®x+2cos’y -1
sin X+cosy sin X+cosy

_ 2cos’ y—2sin® X
sin X+cosy

2(cos® y —sin x)

sin Xx+cosy
_ 2(cosy+sinx)(cosy-sinx)
COS Y +Sin X
=2(cosy—sinx)

=2C0SYy—2sinX

cos(2x) 1-2sin®x

sinx  sin®x
1 2sin®x
Tsin?x  sin?x
=CSC? X —2
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